
Plane Geometry 
Pair of  straight lines

show that the equations

u+ 255xy + 3y2 - 3x - 355y
- 4 = 0

represent a pair of parallel straight lines .
Find the distance between them-

Sola Given ef . is
I

42 + 255ky + 3y
-

- 3x - 355y - 4 = 0



a + (253y - 3)u + (3y2- 355y - 4)= 0

u
=
-((/5- 4 - (3y2 -35y -4)

2

x = - 253y +31/12/by- 1 + 1/3y
- 16

-



a = - - = (a

u
=

- 253y + 3 = 5
-

2

x =
- 253y + 8 or x =-22-

2



either x =- 53y+h or x = -53y-1

=)
x + 15y - 4 = 0 - N

x + 53y + 1 = 0 - ⑭

Slope of N = -
55

slop of M = Is



slope of D = slope of ⑪

.: lines ⑪ and ⑪ are Parallel

Put y = 0 in 0! 4 ,07

x
= 4

.

Point on line is (4 , 03
+ y+1 = 0



or

= = = A


